se 2 4ok = z = g TH jl - §¢ = FEE - I ZIFERELHIBICT s = g =

20194 % o *ﬁﬁéﬁ%&_ﬁ%aﬂiﬂ gL - 1R EF&ﬁ@ﬁﬁg rg;ggg,:,ﬂ;f@;;g;i%fgij;:ggggg;fggﬁgggggDWi VEADTASE mRIKA BR 4:.

4 A EZE = 54 ETIEI E3 5 = 68 ETIE| E3 5 = 78 ETIE| E3E = 8H ETIE| E35 = 9H ETIE| E3E =
= B [hEn LEERE S| = e Tnenl B ﬁ(g_ai%rﬂ@i EE EE D BBl HiLEE = Bl LEEGENE] ] B [han HiLEE = BT LEEGENE]

il A [HER 1 ENGID B 1]t il A R T AN PN 1|8

2 | 2 | X EEYE 2| B8 2 | K #HRT AN & 2 1 A

3 |k 3| Eoort] 3| A 3 |k + 3|

4 | K 4 | = HEYDH 4 | K A ES =] 4 | K

5 | £ 5|1 H ZELDHE 5 | K 5 | & A 5 | K

6 | & 6 | EEAH 6 | K 6|t Py 6 | &

718 AZK 71k 1712 Bk 718 7k 7] £

8 | A SER 8 | K 8 | £ RS 8 | A —FiBi B A 8 | B

9 |k BT AK 9 | K 9|8 Bk 9 Ik & 9 | A

10 | K 10] £ 10| A KA 10 ] K + 10| XK

11 K 1]+ Hh X K | 11|k T ES B WA 11 ] oK

12| & —FiR%E 12| H Hh X A 12 ] K 12| & o RE&KB 12 K

13| £ 13| A (A9 13| K 13| £ PY ERET 13| £

14| B 14 ] X 14| & 14| B K AT 14| £ X EA

15| A 15 | Jk 15| £ B SRS 15| % BEOH pS ERET 15| B X ETA

16 | X 16 | & 16| B 16 | X & 16 | i HEDH

17 | 7k 171 £ 17| A 17] K + 171 X

18] K 18] £ 18] 18] K HSAIVF =] 18 | K

19| £ 19| H 19 | K 19| £ HIRAIYF B 19 [ K

20| 20| A 20| K 20| £ X A IES

21| 8 21| X hRTRH 21| & 21| 8 7k 21| £

22| B —FiBiE 22| K T RN 2| £ 22| A A RER 22| H

23 | X 23| K hpT AN 23] 2 23| &k #rER & 23| MonH

24 | K 24| & 24| B —FBHA 24 | K * 24 | W

25| K PTA#A S 25| £ 25| X 25| K =] 25| K — ¥R E

26 | & 26| H 26 | K 26| & A 26 | K

2711 £ 271 A 271 K HEXTAK 271 = X 21| &

28| H 28 | & 28| & HXRT AR 28| H K 28| =

29| 8 [ZEAOY=] 29 | Kk = 29| £ 291 A A 291 8

30 | X B0 H 30| K 30| B 30| X ol 30] B el iwaZdy

31| & 31 ] K +
108 HE £ - 118 HE EiE - 128 HiE =& - 1R EE EiE - 28 EE S - 3H FtiE £ =
Fao =1 FEL= T Fao =1 S Fao 1 Fa

B | 2| B | #wEa] B | #hER ilasia B | )RR B) B |KER it B | 2| B |#hE8] B | #hER FEER A H | B | Fif |hEB] B |[hER * E$_IE B | & EFfE | A& R B | E Fife | hER B EHAKRER
[l PR FETAHN HES 1| H [HER T H 1] £ [l = FER EHE
2 [ K FETRH 2 | £ E#HA 21 A HXT AL 2 | K 28 2 | A [AS

S I TN 3 [ & mETA [ 3 |5 3 [ & 99
4| & 414 EEAKH 4 |k 4 | £ 4 |k e AR ] 4 | K

5 | FHEFS 5 | w 5 | &k 5|18 5 | K HEAR 5 | K REFEH e
6 | H 6 | K 6 | & — 7B E 6| A 6 | K 6| &

1A RIK A ES 7 £ 7 X BER 7% 7 [ £ 0
8 |k A ES g | B 8 | k 8 |+ 8 | H

9 | K 9|+ 9 1A 9 | K 9| H 9 | A KBAER
10| K 10| B 10| & 10| £ 10| A 10 K BRAR EHEl
11| & 11] B —FiR#%HE 11| K 1] £ 11| EERZH 11| 7K REFER

2] EEN 12| X BER AES ERRS 12| B 12] K 12| & REFER 114
13| B BHA 13 | Jk BERIT 13| & 13| 8 BRADH 13| K — 8k A 13| & REFER

141 #4 ABEDAR 14| K EZRRTT 14| £ 14| K 14| & 14| £ ETH
15 | & 15| £ BERIT 15| B 15 | Jk 15| £ 15| B

16 [ K 6] £ 16| A 16 | & 6] B 16| B FEFEA O
17 K 17| B 171 & 17| £ 171 A 17 K SRFEX

18| & ISR 18| A 18 | K 18| £ o a—RB 18| K 18 | 7k

19] £ s 19] &k 19| K 19] A L A—ER 19 | JK — 3R 19| K KEBEE
20| 8 20 | Kk 20| % 20| A 20| K 20|[% E50H EHiE
21| B KRk 21| K EERRE 21| + 21| & 21| £ FERTAN 21| £

22 | K B D& 2| % —FiBA 28 22| K — B H 22| £ 22| H 213
23| Kk 23| £ 23| A 23| K 23| B 23| B BT

24| K 24| H 24 | Kk mER 24| & 24| 24 |k FAEAY =48
25| & 25| A 25| 7K 25| £ 25| K FERTAN 25| 7k

26| = KL 26 | K 26 | K 26| A 26 | K FERTAN 26 | & O
27| B 27| K 21| & 271 B 27| K s 27| &

28| B 28| K HEXTAH 28| + 28| X 28| £ =RER 28| £

29 | X 29| & HXRT AN 29| B 29 | K 29| & 29| H

30 | K 30] £ 30| A 30| K 30| A

31| K 31| A 31| & 31 ]




